Dual-Stack

EDNS0:512 EDNSQ:1232 EDNSQ:4096

NOERROR for ‘.se’

quG

EDNS0:512 EDNS

IPv4
EDNS0:512 EDNSP:1232 EDNSD:4096

All Zones without DNSSEC returnin

sui(3w( x)loua g —

1000; X >Y

Y

S x)ouamp)Sop = (A) S

-1000;X <Y

L Path 1280 (no PMTUD)
L 1280 (no PMTUD)

L 1280 (PMTUD)

L 1500

I Path 1280 (no PMTUD)
- 1280 (no PMTUD)
1280 (PMTUD)

- 1500

L Path 1280 (no PMTUD)
L 1280 (no PMTUD)

L 1280 (PMTUD)

L 1500

:1232 EDNSQ:4096

I Path 1280 (no PMTUD)
- 1280 (no PMTUD)
1280 (PMTUD)

- 1500

L Path 1280 (no PMTUD)
L 1280 (no PMTUD)

L 1280 (PMTUD)

L 1500

I Path 1280 (no PMTUD)
- 1280 (no PMTUD)

- 1280 (PMTUD)

- 1500

L Path 1280 (no PMTUD)
L 1280 (no PMTUD)

L 1280 (PMTUD)

L 1500

I Path 1280 (no PMTUD)
- 1280 (no PMTUD)
1280 (PMTUD)

- 1500

L Path 1280 (no PMTUD)
L 1280 (no PMTUD)

L 1280 (PMTUD)

L 1500

T T T
2IG:0SNA3 262H:0SNA3 9607:0SNA3
PAdI

T T
2€21:0SNA3 960%:0SNA3

OAdI|

T T
2€cL:0SNd3 960+:0SNA3

OelS-leng

Dual-Stack

IPv6
EDNS0:512 EDNSD:1232 EDNSD:4096

IPv4

EDNS0:512 EDNS(:1232 EDNS(:4096

All Zones with DNSSEC returning NOERROR for ‘.se’

1000;X >Y

sui(3( g)louawy —

Sav( x)Couamp)Sop = (A) S

FO;X=Y

-1000;X <Y

EDNSQ:4096

EDNS0:512 EDNSQ:§232

L Path 1280 (no PMTUD)
L 1280 (no PMTUD)

L 1280 (PMTUD)

L 1500

I Path 1280 (no PMTUD)
- 1280 (no PMTUD)
1280 (PMTUD)

- 1500

L Path 1280 (no PMTUD)
L 1280 (no PMTUD)

L 1280 (PMTUD)

L 1500

Path 1280 (no PMTUD)
1280 (no PMTUD)
1280 (PMTUD)

1500

Path 1280 (no PMTUD)
1280 (no PMTUD)
1280 (PMTUD)

1500

Path 1280 (no PMTUD)
1280 (no PMTUD)
1280 (PMTUD)

1500

L Path 1280 (no PMTUD)
L 1280 (no PMTUD)

L 1280 (PMTUD)

L 1500

Path 1280 (no PMTUD)
1280 (no PMTUD)
1280 (PMTUD)

1500

Path 1280 (no PMTUD)
1280 (no PMTUD)
1280 (PMTUD)

1500

¢15:0SNa3

T T
2€2H0SNA3 9607:0SNA3
PAdI

21g:0SNa3a

T T
2£2H0SNA3 9607:0SNA3
9dI

T T T
C1S'0SNQ3 2e2H:0SNa3 960%:0SNA3

oelS-lendg

Dual-Stack
EDNS0:512 EDNSD:1232 EDNSD:4096

IPv6

IPv4

EDNS0:512 EDNSP:1232 EDNSP:4096

All Zones returning NOERROR for “.se’

1000;X >Y

sut(30( g)louawy —

FO;X=Y

S x)Couay)So) = (A) S

-1000; X <Y

:1232 EDNSQ:4096

EDNS0:512 EDNS|

[a)
=]
as
_S&
oFo
22
(=}
z88
828
DNNT
L1 1.1
HEN I Path 1280 (no PMTUD
I“ 1280 (no PMTUD) )
[ 1 [ ]] - 1280 (PMTUD)
[ [ [ [] 1500
== ol 0T
[ T T[] - 1280 M_u_,\_.ﬂcov
[ [ [ ]| 1500
[ [ [ [ I Path 1280 (no PMTUD)
EEER - 1280 (no PMTUD)
T[] - 1280 (PMTUD)
- 1500
== ol 0T
[ T T ] - 1280 M_u_,\_.ﬂc_uv
[ [ [ ]| 1500
I“ - wmmmuﬁwo_u :%ﬁmﬁacov
[ T [ [] - 1280 Mw_s._.c_uv
[ [ [ [] 1500
I Path 1280 (no PMTUD)
- 1280 (no PMTUD)
| I 1280 (PMTUD)
1500
o PRl AT
[ [ [ [] - 1280 M_u_s._.c_uv
[ [ [ [] 1500
—H Pl 0T
[ T T ] - 1280 M_u_,\_.ﬂc_uv
[ [ [ ]| 1500
ath 1280 (no PMTUD)
80 (no PMTUD)
80 (PMTUD)
L[ ] ] HENEN  EEEN 00

c1g:0SNa3

T T
2€2H0SNA3 9607:0SNA3
PAdI

T T T
ZIG:0SNA3 2€2H0SNA3 9607:0SNA3
IdI

T T
2€21:0SNAa3 960%:0SNA3

oElS-lend



